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QUESTION 1

Examine this UIM code snippet: How will the field element be displayed in the list?
<SERVER_INTERFACE CLASS="Employer” NAME="DISPLAY” OPERATION="getEmployee” />
<PAGE_PARAMETER NAME="personID" />

<CONNECT>
<SOURCE NAME="PAGE” PROPERTY="personID"/>
<TARGET NAME="DISPLAY” PROPERTY="keySperson|D"/>
</CONNECT>

<L 15T
<FIELD LABEL="Field.Title.PersonReference” WIDTH="20">
<CONNECT=
<SOURCE NAME="DISPLAY"” PROPERTY="personReference”/>
</CONNECT>
<LINK PAGE_ID="Person_Home">
<CONNECT>
<SOURCE NAME="DISPLAY” PROPERTY="name" />
<TARGET NAME="PAGE” PROPERTY="name"/>
</CONNECT>
</LINK>
<fFIELD>

<fLIST>
A. As an editable text field.
B. As a non-editable text field.
C. As atext field hyperlink.

D. As a drop-down list field.

Correct Answer: B

QUESTION 2

An out-of-the-box (OOTB) application called Care Worker defines shortcuts in files called CWShortcuts.ssp, which are
located in the tab folder of several OOTB components.
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Which task will you perform to add a custom shortcut for the Care Worker application?

A. Copy CWShortcuts.ssp from the OOTB component that you are customizing to your custom clientapps folder and
add the link.

B. Merge the CWShortcuts.ssp files from all of the OOTB components, copy the merged version to your custom
clientapps folder, and add the link.

C. Copy CWsShortcuts.ssp from the OOTB component that you are customizing to your custom PFMAppViews\tab
folder, and add the link.

D. Merge the CWShortcuts.ssp files from all of the OOTB components, copy the merged version to your custom
PFMAppViews\tab folder, and add the link.

Correct Answer: B

QUESTION 3
Which statement about the different approachable to generating unique IDs is true?
A. A dedicated BPO should be used to generate readable keys.

B. A programmatic or model-based approach allows a developer to access the unique ID form their code once the key is
generated.

C. The model-based approach should be used to generate keys from the Default KeySet.
D. A key set must be specified when using the programmatic approach.

Correct Answer: D

Reference: https://www.ibm.com/support/knowledgecenter/SS8S5A_7.0.9/com.ibm.curam.content.doc/
ServerDeveloper/c_SERDEV_UniquelUniqueldsl1.html

QUESTION 4

Which build command must they execute?

A. build database

B. build webservices

C. build websphereEAR or build weblogicEAR
D. build wasonnector2

Correct Answer: B

QUESTION 5
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You want to model attribute2 as a code table in the following entity.

sentitys
Q SampleEntityOne

Ly wkey» attributel : SAMPLE_DOMAIN1

Ly adetails» attribute? ; SAMPLE_DOMAINZ

kg adetailss attribute3 : SAMPLE_DOMAINI

'ﬁ._ €inserts jnsert ()
ﬁ._ aread» read ()
@ «modify» modify )

Which two steps are required? (Choose two.)

A. Set the domain definition for attribute2 to CODETABLE_CODE.

B. Set the Type for SAMPLE_DOMAIN2 to CODETABLE_CODE.

C. Define the code table name as a property of attribute2.

D. Define the code table name as a property of SAMPLE_DOMAIN2.
E. Define the code table name as a property of CODETABLE_CODE.

Correct Answer: BC
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